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QUESTION 1

Which three values are applicable for the profile option ?;Transaction Processing Mod"; for subinventory transfer and
interorganization transfer? (Choose three.) 

A. Background Processing 

B. Blind Processing 

C. Online Processing 

D. Offline Processing 

E. Sequential Processing 

F. Concurrent Processing 

Correct Answer: ACF  

 

QUESTION 2

Which two statements are true in regard to using the Enterprise Structures Configurator? 

A. The guided interview-based process helps you set up the enterprise with best practices. 

B. It recommends job and position structures. 

C. It creates the chart of accounts. 

D. It allows you to create your Enterprise, Business Units, and Warehouses in a single step. 

E. You cannot modify the recommendation from the tool. You must do it after you perform the initial configuration. 

Correct Answer: AD 

 

 

QUESTION 3

Your client has not been managing Supply Request Exceptions on a regular basis. What issue does this cause? 

A. The request will be denied automatically if not resolved within two days. 

B. Supply orders are not created for these exceptions, thus causing disruptions in the Supply Chain. 

C. If exceptions are not resolved within a set threshold days, it alerts the manager and continues to escalate up the
Supply Request Exception Chain. 

D. No issues would be caused; these are just warnings. 

E. After the errors reach a set threshold in profile options, no new requests can be created. 
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Correct Answer: B 

 

QUESTION 4

Which three statements about project specific picking process are correct? (Choose three.) 

A. Shipment lines with project task can be created in shipping organization not enabled for projects. 

B. Picks can be searched by project and task number. 

C. Pick release of movement request allocates common inventory prior to project specific inventory. 

D. Picks with same project and task can be grouped to single pick slip. 

Correct Answer: BCD 

 

QUESTION 5

Your client has just set up their chart of accounts. They are now designing the organization hierarchy in 

the system. 

Which three structures should the customer use to do this? 

A. Warehouse, Subinventory, and Locators 

B. Divisions, Business Units, and Departments 

C. Cost type, Default Cost Structure, and Item Organization 

D. Cost Centers, Organizations, and Locations 

Correct Answer: B 
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